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FEEENREASBE-MREEN SRR E,
AL E L BB R R B REA e, mHAED
BRI —EIPUERRMAE, ARG BRITE—RE
BRAERE, MAREARE (BHEKREHA0 151
REFRB AR B ABE (BE—RBRERSERE)
%, ZHERAERS BN —BEREABLETFR A 2B X
(BEARXRRE), BERTNAREL X, 1R ax®+bx
+e W “R =TSR, A% B AR REEORR AR .
MIREHHEL . KPERNSHK, HERTERMEER
MR, TR HS RERARES R, ETREREN
ML AN BHR R, FELAEXEERE—MR, A
R BRI AR % T RS S 65 B R B R HE R,
T EE BV ILILF R H A B R ok,

—. BEREENXE
R R ARA,s
1. ma+mbtme oree =m(a-+b+ctrereer),
2, a?+2ab+b2=(atb)?,
3. a®>=b*=(a+b)(a-D),
4. a®+b=(aLtb)(a*Fab+b"),
5. a®+3a%b+ 3ab?+-b*=(a+b)3,
R etk AR#TER B, HEE—BAFANSL B
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KREEARG—, REHARARBEARBELHBRERX. R
MBHABEE. ELARNNER, TE. K. FESHE.
FAREARSBERETRBIAER, SHLIBRET, K
WMEH LG ARk, I

8x2—8xy+2)%, 4x*+9)°+1+6xy+4x+6Y,

X 4+x3)2 4yt (a+D) 4+ (a+D)2+1, xt+ L

4
SHNRAAERETRREARNRS BRERX,
x8—y8, X4 y3, aP+4+b%+c®—3abc
HZLEUMNAFREZRAURELARKSBER, XM
a?—4ab*+ 3b*—2b*—1
W LLEIE EYRR :
a?—4ab®+ 4b*—b*—2b%* -1,
FHRREARABER, HRUWTLURTFHRERIRBL
AT EKXS .
(=1 HLTIERHETERD B
(1) x*+xt+1, i
(2) 14 2a+3a*+ 4a®+ 5a* + 6a®+ 5a®+ 4a”+ 3a® + 2a°
+a1°. A
(3) (1—a®)(1—-b%) —4ab,
(4) a¥(b—c)+b*(c—a)+c2(a—b),
B () x4,
SR, 24, BRATFEAR.
R =x"42x*+ 1 ~x'=(x*+ 2x* +1) —x*
=(x'+1)=x'= (x*+ 1 =2 (¥*+ 1+ x%)
=(x'—x*+1) (F*+x+1) (X —x+1),



(2) 1+2a+30%+ 4a®+5a*+ 6a®+ 5a°+ 4a’ 4 3a*
+2a° +al®,
A RRGIFASE, RRALER 1+ TTHRE,
FR=U+a)+a(l+a)+20*(1+a)+2d°(1+a)
+3a*(1+a) +3a°(1+a) +2a°(1+a)
+2a’(14+a)+a*(1+a)+a’(1+a)
=(1+a)(1+a+2a2+ 203+ 3a*+ 3a°+ 2a’+ 2a’
+a®+ab)
=(1+a)(1+a)+2a*(1+a)+3a*(14+a)
+2a%(1+a)+ad(1+a)]
=(1+a)?(1+2a’+ 3a*+-2a°4-a)
=(1+a)?(1+a®+a*)?
=(1+a)?(a®+a+1)%(a?—a+1)2,
(3) (1—a?)(1—b*)—4ab,
RETmEHA R, BHHEN R,
BERX=1—a?—b*+a%b?—4ab
=1~—2ab+ ath? —a*— 2ab— b?
=(1—ab)*—(a+b)?
=[(1—-ab)+ (a+b)IL(1—ab) —(a+b)]
=(1—ab+a+b)(1—ab—a-0b),
(4) a*(b—-¢)+b*(c—a)+c*(a—-b),
Ba, b, cFH_EKABRFRE, TER b—c FER—4TE R,
B3R =(b—c)a®—b%a+c’a+b*c—bc?
=(b—c)a?—(b?—c%)a+bc(b—c)
=(b—-c)a?—(b+c)a+bc]
=~(a—b)b—c)c—a),
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(1) a*—b>—a(a?—-b2)+b(a—b)2,

(2) (a+b+c)P—a3—b3—c3,

(3) e+ b*+c*—3abe,

(4) (a—2b)a—(b—2a)3b,

. (1) ®—b—a(a®—b*)+b(a—b)®
=(a—b)(a*+ab+b)—ala+b)(a—b) +b(a—b)?
=(a—b)[a*+ab+b*—ala+b)+b(a—b)]
=({a—b)ab,

(2) (a+b+c)*—ab—=b3—c?,

SHWHLHEAR, BRAEELATAAR, TEAFERN
(b+o),

FR=[(a+b+c)>—a®]—(B3+¢?)
=(b+c)(3a*+ 3ab+ 3ac+3bc)
=(b+c)+3lala+b)+c(a+b)]
=3(a+b)(b+c)(c+a),

(3) a®+ b3+ c¢®—3abc

=(a+b)34 c®>—3a’b—3ab*—3abc
=(a+b+c)[(a+b)*—(@+b)c+c*]—~3ab(a+b+c)
=(a+b+c)(a?+bt+ct~ab—bc—ca),

(4) (@—2b)a—(b—2a)®b, & a—b=k, W
a—2b=k—-b, b-2a=-—(k+a),

FR=k-b)Yba+ (k+a)®d
=k3a — 3k?ab + 3kab*—ab?® + bk?* 4+ 3k%ab + 3ka®b

+a3b
=(a+b)k®+ 3kab(a + D) +ab(a*— b?)
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= (a+b)[k®+ 3kab+ab(a—b)1]
=(a+b)[(a—b)+3ab(a—b) +ab(a—b)]
=(a+b) (a—b)[(a—b)*+ 4ab]
=(a+b)(a—b) (a+b)*=(a+b)%(a=b),
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1. a*4atbi4- b4, 2. at—be,
3. (x+»P—x—)A43xy, [R7F: RELOBAX x4y,
B XA 3xy(x+ ) +3xp,1
4, x4 yt4zt—axtyr—oxtzi 4 2y*z0,  [4eaw AR o
X(a+b—c)t=a?4-b*+ ¢t + 2ab—2bc ~2ac)]
5. m*+mP4+m+1,
(BF: RX=m@m*+1)+ m*+1),]
6. nt—nt+2n®+2nt,
7. X3+x3—=x2—1,
8. (ad+bc)?—(a*+d*=b*—c?)?,
9, X*+ x+ My, [(RT: x, yidf AKX 82 F
TEAER xy, x+y ATHEXN oM.
x4 yt=( x+ ) —4xy(x+ )2+ 2x2y?,
B X =2x+n—4xy(x+ )2+ 2xy2
=2(x%+xy+ y*)2,
10, be(b+c¢)+calc—a)—ab(a+bd), [$2-F: i H
AREF B ETERa+b RO —ABAX.]
11. =)+ (c—a)’+ (a=b)2, [#T: HNEHA
 ABBREFTAANXET, TARLa—-bREARXH - HX.]
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12. 2a%b*+ 2ac2+ 2b%C2 —at—bt—ct, (42 %,
(a2__b2__02)2:a4+b4+c4_2a2b2___2a202+2b2c2’
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1, X+ (a+byx+ab=(x+aXx+b),
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3, ax?+bx+c
2 . 2 Ao
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(4) 3x2+5xy—2y*+x+9y—4,
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BER=(x—-2)(x—1),

(2) 6x2—x—15,
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B x, y BRI =0REEEE, g EHREESRRRA
RRZ.
1 B =3+ (5y+1)x—(2y—1Xy—4),
3 —(y—4)

1 2y—1
—y+4tr6y—3=5y+1

FR=0[3x—(y—4)1(x+2y—1)
=(3X—p+4Xx+2y—-1),
Wk 2, FR=3x2+(5y+1)x~2)24+9y—14

5y+1+A/(5y+1)2+4><3(2y2—9y+4))
2X3

.(x 5y+1—M(5y+1)2+4x3(2y2-9y+4))
+ 2X3

5y+1+7(y—1)>(x+ 5y+1—7<y—1))
2X3 2X3

=(X+2y—1X(3x~-y+4),

=3(x+
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k3. MASEREE, B

FR=(8x—y+aXx+2y+b)
=3x%—xp+ax+ 6xy—2)* + 2ay4 3bx— by + ab
=3x24 5xy =22+ (a+3b)x+(2a=b)y+ab,

WERRY, &
a+3b=1

2a—-b=9
ab=—4,
WARH, HFa=4, b=—1,
ER=(3x—p+4)x+2y—1),
CHIm] kR f{ERS, x2—)°+3x—Ty+k W LA 4 % %
- A RER
B WP 43— Ty+k=x2+3x~ (P +7y—-k)=0,

_ —3E~N9+4(+Ty—k)
2

_ —34+4)7+28y+9—4dk
= . .

FEREMRRFEAS—RER, LR 49°+28y+9—4k RL
SEJiR.
42+ 28y +9—dk= 4[y2+7y+< > _<_72_>”+ 9-;4k]

4[ > —494;9 4k]
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BHA— KA.
—_— 8 —

I

l



FERALUNRSER R, &
R =(x+py+m}x—y+1),
SRt m, I WEE R k,

& 3 — (2)

L BTSSR E X,

1, x¥*—x—-86, 2, 6x7+17x—3,

3. (X2—3)%—4x2, 4, x*—11xy—12)°2,

5. (X+y)Y—2(x+y)-3,

6. n(n+1)(n4+2Xn+3)+1,

[RT: RX=(n"+3n+2)(n*+3n)+1, & A=n’+3n
rz.]

7. (XF1IXX+3INX+5)NXx+T7)+15

[ BA=(X+8X+7)(x*+8¥+5)+15.]

8. x*+x>—2ax+1—a?,

IR7: BX=~[a*+2ax—(x*+x2+1)], BRA KRN
Ko fFo=—x+H(x+ 1) B X=(X—x+1—aXxP+x+1
+a), A AR X5 RX*+2x24+1—x2~ 2ax—a?=(x*+ 2x*
+1)— (X2 20x+a?)=(x2+ 1) = (Xt a)i=re, ]

9. x*—2xy—3)y*4+8y—4,

[F: B X=xT—2xy—(3)'—8y+4)=x2—2xy—(3y
=2Xy-2)ERTFRAEEFRX=-3y+2)(x+y—2),
RER AR A(x=3pNx+y)+8y—4, ¥ B X=(x~3y+2)
(x+y—2),1]

10, X*+3Xxy+ 2)2+ 4x+5y+3,

=, FXHC- 13- 14X+ 9 R AKX T, £
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AR, BE RBEX=(+ax+b)?, RFE E XK
£ da,b,]

=, kR, kx?—2xy—3)°+3x—5y+2 fe4h 5 %
AREN—RA X,

=, BAKkES>RAX
MBEEHL ) L TR o) B, FAFEES
ZHR g(x), BEHIEZLER ) =P 00)g(x) BRI, M ¢(x),
g M fO) WHEF. BAERELZT
f@ =L@t Faxt e g ax o,
X B a, o, a1, Gz e s Oty O BPREER (a0), 2 f(X)
H—RER(x— 2 ), Wbt p, g AR, KA P~ A

W, g —ER o WA, MBEHESTRN O B x—a i
B, W53t BRA fa) =0, HER, MEHRE—KEL,
W BEARE, HuE s T — kB R ol gk £ 5K,
A e v R — . B, B o —-x—5x7 - Tx+ 12,
x5 —yt p B R A R, BT A TR AR, RE W RERE.

(HE] BT SO0 =x546x"+13x°+ 14x*+ 12X+ 8
5 iR =K.

®: 8 +1, £2, T4, 28 RRB, HE ) HF—AR
x=—-2, U x+2%, &

FOO) = (x+2)(x*+ 43+ 5x%+ 4x+ 4),

ZARBAEHAE AR x==~2, Lx+2F, B

XA+ Ax+H4=(x+2) P+ 2xT+x+2),
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BERBH x=—2 12 3+ 2x?+x+2 —4 R, 8
X fox?fx+2=(x+2) (X*+1),
BUBEH
BHext+ 13334 14x2+ 12x+ 8= (x+2)3(x*+ 1),
(Fx]l BERSE 3X°—-x'+ x5 —7x% 14,
. 2R -+ -+ WHAENAE R BE

O Ly R N T

37738773
R amERE.

3—1+1—7+o+4l1
+3+2+3—-4—4
3+2+3—4—4+0

B = (x—1) (3x*+ 2x3+ 3x% —4x — 4), BEEHKE:
3+24+3—4~411
+3+5+8+4
3+5+8+4+0

B =(x—1)2(3x*+5x%+8x+4), HERE

3+5+8+4
—2—2-4
"3+3+6+0

JEﬁ:(x%— 3)(x—- 1)2(3x2+3x+6)
=@Bx+ 2 (x~-1)2x2+x+2),
Bt fﬂx’—%xg—exu-;xﬂmmﬁ.

ﬂ:ﬁ%ﬁﬁ%&lxmhkﬁ—mﬂ+m+m.ﬁﬂﬁ

HWABREAR (x— 2 )b, 2R g 1, £2, 3,

16, ko £ AGARERE.
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2~3-124+ 7+6 |1

2— 1-13—6 |
2—1—13~ 6+0|—~2
—4+10+ 6
2=5— 3+ 0[3

_+6+ 3
2+1% 0

Lﬁiﬁ=é—(x~ 1) (x+2) Ge—3) 2%+ 1),

(HN] BTFHERSHEER,

(1) a®-0%, (2) 32x'54y15,

B L hEREN, O b fEia-b B, )
W R, o' =b" g a—b K ot bR, (i) "+ b
BRREW a—b ¥R (V) % n REMWEE, o+ b bk et

(1) a®=b°=(a=b)(a*+a3b+a?b®+ab®+bY),

(2) 32x154y1s

= (2x%+ P )L (2x3)* ~ (2x%)3)3 + (233)2 (1)
—(2x%) (Y3 + (]
= (2x3+ J3) (16x"% = 8X%)° + 4x5)° — 2x3) + y12) |

[FIAT 800 =x*+x+2x+x+ 145 EEHRK,

B, UYx=11m, fO%0, BREH —KE . I
OO REKAN, DAE—AZKER, #itRH Sx)=x
+ax+b, fx) BEH SO WK, W x=0, f(X)=1; x=~1,
S =2, WA, P(—DHERBERLIE2H A %K. W
d(0) =1, ¢(—1)=2, 14 b=1, a=0. O =2+1RA K
SO, BEA2+x+1, Fel, BR=0"+x+1) 2+ 1),

PR SERR R R BRI E, MR U A R
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Gt 34 x2) + (4 x+ D) AR (P x+ 1) (24 1),

(B+] I8 a®+ 6%+~ 3abe FHE I fig.

R, a®+ b3+ B —3abc=a(a®—3bc) + b2+,
Sa=—(b+c) RARANE, Hllatbt+ec RZER—FTH
K. WH—BEREE

a3+ b3+ 3-=3abc=(a+b+c)(a2+ b2+ c?—ab—~bc—ca),
REBRER =(a+b+c)[4@®+ b+ )+ B(ab+bc+cadl,
i el & B M A=1, Wa=1, b=1,c=0R AN, X%
B= -1,

% 3 — (3)

—, ET7&B X5/,

1. f(x)=x*—4x*+x+6,

2. fix)=6x*—11x*+6x+1. [H#FF: (=0, BX
=(X—1)X6x*—5x+1)=(x—1)(2x—~1)(3x~1),]

3. f(x)=x3+6x*+11x+86.

4. fix)=x*~5x3+3x2—-3x+2,

5. X¥°+)°, 6. x*—1,

7. x*—)°, 8. xT+),

9. x)=x+x+3x°+4x*+4x+2, [R7F: RXILH
=k B X, f)=(x*+x+1)(x*+2x+2).]

=y Lh 28— 13x+p H—A B X R 2x+1, £P
%ﬁﬁk@&%ﬁi@i\%.

Z, e xttkx®+px—16 HF B X (x~ 1)7fp(x 2), &
k.p##tBX 5., [BF: ERAREFEk=-5, p=20,
B X =(x—1)(X—2)(x+2)(x—4).]
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